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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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P3-7

BfE) | GEBERTIC (7)) | EBME (BEAH/#K) | XS R

01:00 141 90.0 5 Ri%@01:00 (KRR
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Eit]1128.0 (8%) 720.0 #3#KEC: 1900.0, PH: 6.5
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large discrepency for begining water status (114:267.0), set to 145.0 ml.
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large discrepency for begining water status (67:276.0), set to 109.0 ml.
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P3-7
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large discrepency for begining water status (67:288.0), set to 111.0 ml.
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